Lesson BB : Comprehension Practice

NAME Date
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Which answer BEST completes the following rule.
All dogs have fur. Bailey is a dog.

All dogs are named Bailey.

All dogs are Bailey.

Bailey has fur.

Bailey maybe has fur.

In which sentence does the word obtain fit best in the blank?

Rickcan to the movies with us.
Hewill ______ across the pool.
Barbaracan ______ down the beach.
We will the wood we need.

Read the following sentence.
Everyone wore a warm coat to the game.
Which answer explains why people wore warm coats to the game?
It was cold outside.
It was warm outside.

It was a good game.

. It was a long game.
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o Which of the following choices is a vehicle?
A. atire
an oven

a truck
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. an airport

. A strong wind blew the sand onto the street.

. A strong wind blew the sand onto the street.

e In which sentence is the part that names underlined?
A
B
C. A strong wind blew the sand onto the street.

D

. A strong wind blew the sand onto the street.

. bones
. muscles

e What makes up the skeletal system?
A
B
C. ears

D

. lungs

° Which of these is a slanted line?
A. l C. /

B. / D.
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o Which answer BEST completes the following rule?

Comprehension Practice

Some flowers are blue. An aster is a flower.

A blue flower is an aster.
Maybe an aster is a flower.
An aster is blue.

Maybe an aster is blue.

If you examine a rock, you
throw it far.

look at it closely.

bury it.

break it into pieces.

Which of these choices is a container?
a sailor

a ticket

a suitcase

a boat

In which sentence is a noun underlined?

A red bird flew over the tall tree.
A red bird flew over the tall tree.
A red bird flew over the tall tree.

A red bird flew over the tall tree.
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o Which of these choices is NOT part of the skeletal system?
A. spine

B. skull

C. hair

D

. ribs

e Read the following sentence.
The children were walking home from school.
Which answer explains why the children walked home from school?
It was early in the morning.
School was over for the day.

The teacher gave the children a test.
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. It was time to go to the library.

e Which of the following choices is a horizontal line?
A. ’ C. /

B. / D.
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o In which class is a lion?
A. containers
vehicles

verbs
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. animals

e Whose job is it to protect?
A. mail carrier

B. police officer

C. truck driver

D

. teacher

. Two deer stood near the edge of the field.
. Two deer stood near the edge of the field.

e In which sentence is the part that names underlined?
A
B
C. Two deer stood near the edge of the field.
D

. Two deer stood near the edge of the field.

o Which of the following choices is a vertical line?

A. l C. /
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